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(i) 97 G&IT 29 FHEEGT TraE I 6 3F HT B (3 3F Fldsrg dgr 8 3
i) |

(vii) ¥ FY HFI %] 37941 IR Gl & 375X qerd Hllrg |

General Instructions :
(1) The question paper has 29 questions in all. All questions are compulsory.
(it)  Marks are indicated against each question.

(iti) Questions from serial number 1 to 8 are Very Short Answer Questions.

Each question carries 1 mark.

(iv) Questions from serial number 9 to 20 are 3 marks questions.

Answers of these questions should not exceed 80 words each.

(v) Questions from serial number 21 to 28 are 5 marks questions.

Answers of these questions should not exceed 120 words each.

(vi)  Question number 29 is a map question of 6 marks (3 marks from History

and 3 marks from Geography).

(vii) Attach the filled up map inside your answer-book.
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G 9T T R R TeRR IuAIEIST o fofw 3wt B 2 1

How is the ‘Right to Information’ useful to consumers ?

IIEH I GRS § A=t T I | 1

Differentiate between Ore and Mineral.

TgITSe o fohelt Teh & ga &1 W foiflau | 1

Name any one regional party of Maharashtra.

T 1986 H AR HEhR GRT IUHRRIS < 98 H fohU T J&F B U™ h1
Ieod HIT | 1

Mention the main legal measure taken by the Indian Government in

favour of consumers in 1986.

ST TS 1 &9 Tohdl THT AT 2

HAAAT

Y4, 1975 H o foaam =t we o 2 1

Who became the allegory of the German nation ?

OR

Who unified Vietnam in April, 1975 ?

AT § 2006 H AT &1 IREY Temam =T 2 1

Why was the movement started in Nepal in 2006 ?

Al § S 4§ T B T J&I RO T HINT | 1

Explain the main reason for starting of water war in Bolivia.
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8.  ToSiell % |MM i UETT Sl GHTEd i & foie fre wree-fag &1 w=m e
ST g ? 1

Which logo is used to assure about the quality of electric goods ?

9.  AYHIRU I I Yk ~AEETd 99 & T Hd TR hiA-8 IYT T Fehd]

2 2 T9ee il | 3

What measures can be taken by the Government of India to make

globalisation more fair ? Explain.

10. TSHifdes gl # o o 3R o1 oA Hl Sl 55 YHepT i fpH TR b
foRer ST TehaT 8 2 IS I 39T ST | 3x1=3

How can the growing role of money and muscle power in political parties

be controlled ? Suggest any three measures.

11. YR SARhaA SHH-Hl TG A T AHAT B & & ? 36 AT I g B oh
o 3aT U TRl g1 shemt Shi e hifsT | 1+2=3

What major challenge is being faced by the Indian democracy ? Explain

any two steps taken to overcome this challenge.

12. 3l & ThHIRU <l Uik sl Tase HIfST |

YT

HIHITHIT g0 Wbl Sodl &1 H Wl hl sgM o 0T I3TT 7T feheal 9 el
T HIT | 3

Explain the process of unification of Italy.

OR

Explain any three steps taken by the French in the Mekong Delta region

to increase cultivation.
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13.

14.

15.

16.

17.

18.

19.

20.

532/2

‘T AT ToRE TR Ao TS G I IE A T IMER & ? TR
HITT | 3

How did the ‘Salt March’ become the base to begin the ‘Civil Disobedience

Movement’ ? Explain.

I foh8 JehR STe TGWUT 394 hid & ? T ShiT | 3

How do industries cause water pollution ? Explain.

TR T o qrdl <t fopegl i fifeat o1 avia Fifse | Sx1=3

Describe any three policies of Indian National Congress party.

IOl I g T AT ATCIAT H 9FT 4 o HRUN hl TI5 HINT | 3

Explain the reasons for the business class to participate in the ‘Civil

Disobedience Movement’.

‘S WTeg skl IRHATNG ShIfSTT | SR o <1 9hi 1 Iooid shifaT | 1+2=3

Define the term ‘trade’. Mention the two components of trade.

fospma < T =01 <t yfirehT &1 T FHIRTT | 3

Explain the role of credit for development.

FN UG 3R @S Myt Iarm H 3T Aled i af 3T T
HINT | 11413

2 2
Explain with examples any two differences between agro-based and

mineral based industries.

TR | IUYRRIS I MU F T4 o hIs dF I ST | 3x1=3

Suggest any three ways to save consumers from exploitation in the

market-place.
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21. “dop wRd srefereren & fawE ¥ wewqul it fwr @ € 1”7 3grewn afgd
3G HA i gfee Hifu | 5x1=5

“Banks are playing an important role in the development of the Indian

economy.” Support the statement with examples.

22. TE fhaM wqeE 4 A9 otamn ofgie § fRE YR v foRn 2 T

HIIT | 5

How did the rich peasant community participate in the ‘Civil Disobedience

Movement’ ? Explain.

23. SEUSHR HEIAT G U IcUTGl hl AW H BaAH o foheal dare aliel #1
Ui I | 5x1=5

Describe any five ways by which multinational companies are spreading

their products across the world.

24, YA § TS UNEgT & A A dATell Tg@ Fuened &1 faveror S | 5

Analyse the major problems faced by road transportation in India.

25. FUTA H 310 2006 H T FY HGoH 61 J&d fomwarsti =1 9o HY | 5

Describe the main features of the movement started in Nepal in April

2006.

26. o1 o AIHUIT FETYUAT o IUANT bl oIS TEWhdl I & ? SO TIL
T | 5x1=5

Why is there a great need to use renewable sources of energy ? Explain the

reasons.
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27. AThdIReh TUEhR fhE YR ATTHERT o Ufd ITER Bldl @ 2 I<TEWN Tfed TS

hITTT. | 5x1=5

How are democratic governments accountable to the citizens ? Explain

with examples.

28. Ty IAWGl WATEE b NH JUUSTHAT o HHA IUEYA foheal ura ST
HISATEAT I FUi AT |

AT

foaam # & fopw U Q@ it AR Tl AgIeH i foheal dra fomivansTi w1
U HIT | 5x1=5

Describe any five economic hardships faced by Europeans during the mid

nineteenth century.

OR

Describe any five features of the ‘Go East Movement’ started in Vietnam.

29. (29.1) WRA o U T TSHITh WI-AFRET (T8 11 W), § IF F&7 A, B 3R
C 3fera fopu U 8 | 39 @&on o F=fafed SEe f TR 9
JEe-T 3 39k Tl 9 gt W g 78 W@ren ) fafge - 3x1=3

A, T8 TIM JEI WA TSI HiUE 1 AR g3 o |
B. 9% TJH & THe BT dqrel T |
C. 9% T g fopami 4 ‘Fcamrg’ foham o |

(29.2) WA o feu T et Ui W@-AERE (T8 11 W), # f=faRad =t
39 @l ¥ GRET 3R 3k I fRax 3x1=3
(i) €Y —qr9 ik G

(i)  gO — TIFRAI FITST dTeh

(i)  Bfeean — yqE g5 aoH
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(29.1) Three features A, B and C are marked in the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the

lines drawn in the map :

A. The place where the Indian National Congress Session was
held.

B. The place where the ‘Salt Law’ was broken.
C. The place where peasants organised ‘Satyagraha’.
(29.2) On the same given political outline map of India (on page 11),
locate and label the following with appropriate symbols.
1) Namrup — Thermal Power Plant

(i1))  Pune — Software Technology Park

(iii) Haldia — Major Sea Port

Fig:  HElcIad 3T #ac GIRETaT ahenten & o7g, J97 & 29.1 797 29.2
& I W&

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 29.1 and 29.2 :

(29.1) 3T M 1 919 fafae, SEf 1927 § YR TS i 1 AfGayH
7T T |

(29.2) T HIT hal AIST AT AT ?
(29.3) a1 & Wl W ATl FoREHT 7 ITGIeH hal oA o 2

(29.4) 9MEY d9 G497 forg T § feorq @ 2

(29.5) TEWTSE T feda foref dideday Seiatstt uteh ot I feiflau |
(29.6) wfeean yg@ Tl uoe fohe T | oo B 2 6x1=6
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(29.1)

(29.2)

(29.3)

(29.4)

(29.5)

(29.6)

Name the place where the Indian National Congress Session was
held in 1927.

Where was the ‘Salt Law’ broken ?

Where was the movement of Indigo planters started ?

In which state is Namrup Thermal Plant located ?

Name any Software Technology Park located in Maharashtra.

In which state is Haldia Major Sea Port located ?
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29 & foTu

For question no. 29

WA T {@T-HH A (T )

Outline Map of India (Political)
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